BERXFRBRFTIVIYRL ENRIA £:2022/7/10

TR a— F 35620
hIXETH % i _1.5)
RERXPBAEHER

= BREE BASDEH AR

T (0 A& 8 = EEI=EXS 7 990, 000 |
7 |5 B 0A50Y NHK= — /8 000
3 B KX 1= » L BEAE—% 77 000
§ [JU XK 20T SHE 780. 000 |
5 |z » & 5 TR 054, 000 |




LBIEREERAR

EEXFARERTIVIYAL
mRETH—F 35620
i T 4 L SHT

FIRI A {:2022/7/10

ZEEREHARERRERBRA

EEE7¥ BOOE. YYBTEHER | ThoBRE-tRaAL
(A) (B) = H (C)
3 633 000 0 000
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(D) [(A)+(B)+(C)] (E) (F) [D)+(E)]
3 633 2 3 779
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[(E)./ (F) x100] (G) [(F)+(G)]
2 37 7 3 720




